
Übungen & Lösungen – Redoxreaktionen 
 

1) Cr2O7
2-  +  HCOOH  à 2Cr3+  +  CO2 

 
2) Fe2O3  +  3CO  à  2Fe  +  3CO2  (im basischen) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



1) Cr2O7
2-  +  HCOOH  à 2Cr3+  +  CO2 

 
 
 

1. Oxidationszahlen bestimmen 
 

 +VI -II                        -II                        +III             +IV -II 

Cr2O7
2-  +  HCOOH  à 2Cr3+  +  CO2 

 

 

 
2. Oxidation 

 
HCOOH                  →   CO2    +    2e-  
HCOOH                  →   CO2    +    2e-         +     2H3O+  
HCOOH  +   2H2O  →   CO2    +    2e-        +     2H3O+ 

 
 

3. Reduktion 
 

Cr2O7
2-      +     6e-                            →    2Cr3+ 

                                                                  2x3 = 6 
                   -8                                                      6 
 
Cr2O7

2-         +     6e-     +   14H3O+    →    2Cr3+ 
Cr2O7

2-         +     6e-     +   14H3O+    →    2Cr3+ +    21H2O 
 
                                 7+14 = 21 

 
       4. Gleichungen kreuzmultiplizieren 

Oxidation:  HCOOH  +   2H2O  →   CO2    +    2e-        +     2H3O+/ x3 
Reduktion: Cr2O7

2-         +     6e-     +   14H3O+    →    2Cr3+ +    21H2O   
                         
             Oxidation:  3HCOOH  +   6H2O  →   3CO2    +    6e-        +     6H3O+ 
 
 
       5. Gleichung zusammenfassen und kürzen 
 

3HCOOH + Cr2O7
2-  +  8H3O+  à 2Cr3+ +    15H2O  +  3CO2 

 
 
 
 

+14 



2) Fe2O3  +  3CO  à  2Fe  +  3CO2 
 
 
1. Oxidationszahlen bestimmen 
 
     +III   -II              +II -II                  0              +IV -II 

Fe2O3  +  3CO  à  2Fe  +  3CO2 
 

 
 
2. Oxidation 
 
3CO  à  3CO2 
 

3CO  à  3CO2  + 2e- 
 
3CO + 2OH- à  3CO2  + 2e- 
 
3CO + 2OH- à  3CO2  + H2O  +  2e- 

 

 

3. Reduktion 
 
Fe2O3  à  2Fe 
 
Fe2O3  + 6e- à  2Fe 
 
Fe2O3  + 6e- à  2Fe  +  6OH- 
 
Fe2O3  + 6e- +  3H2O  à  2Fe  +  6OH- 
 
 
4. Gleichungen kreuzmultiplizieren 
 
Oxidation:  3CO + 2OH- à  3CO2  + H2O  +  2e- / x3 
 

Reduktion:  Fe2O3  + 6e- +  3H2O  à  2Fe  +  6OH- 
  

                         
Oxidation:  9CO + 6OH- à  9CO2  + 3H2O  +  6e- 

 
 
 
5. Gleichung zusammenfassen und kürzen 
 

9CO +  Fe2O3  à 9CO2  +  2Fe 
 


